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Let & and &, be two acute angles of a right angled triangle.
difference of acute angles

8y -8, = 25—” radians

in aright angled triangle,
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Let 8 and & and &, be the angle or tnangle.
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Genaral formula for interior angles of polygon with n side
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Let the angles in degreesbea-3d, a-d, s+d, a+3d
Then,

sum of the angles = 260"
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Let 4,8 & C be the angles of triangle 48C.
We are given that 4,8 & C ae in &P,

letA=g-d, E=3and C=a+d
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Let s & m be tha number of sides in two regular polygon respectively,
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We know that each angle of n-aided regular polyagon is T right angles.
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According to the question,
AB&C arein AP

letA=s-d, B=5 &C=5+d
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Letn and m be the number of sides in two regular polygon

respectively.

We know that each angle of n-sided reqgular polygon is
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Let A& be the rail road
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Since A whesl makes 360 revoulation in 1 minutes
. Wheel will make % revolution in 1 secons

Thatis, 6 revoultin inl second
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(i} we have,
04 = length of pendulum = 75 cm
=0.75m

A& = arc A8 = 10 cm
=0.1m
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We have,
04 = 08 =radius of circle=30 om =03 m
A8 =chord A8 =30cm =0.3m

Arc 48 = A8 =i (say)
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We have,
In arcular track,
0A=0B=r=150m
ZA0B = 8 = angle the train turns in 10 seconds
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The train will turn by [%J angle in 10 sec.
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Let, r be the distance, at which coin in placed. So that it completely conceals the
full moon.

Let, £ be the eye of the observer.
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The coin should be placed at a distance of 2,217 m from the eye.
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Let, £ be the eye of the obserwver and & be the sum.
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Distance of sun is 247407.4 km,
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Let, ©) & Cp are two cirdes with same Arc length /.
Thatis 48 = &0 =

Let, & adn 8, are two angles subtendad by arc A8 and ©0 an
respective orcles.
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Let, AE =arc A8 =22 om
04 =08 =r =100 cm

Let & bet the angle subtanded by arc A8 at centre O,
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